d%o

pr [ GeV/c] y dprdy” [ nb /( GeV/c)]
0<pr<2 —3.0<y*<-25 8394130
0<pr<2 —3.5<y*<-3.0 740+ 114
O<pr<2 —4.0<y*<-35 627 =129
0<pr<2 —4.5<y*<—4.0 523 +90
0<pr<2 —5.0<y*<—4.5 318+ 77
2<pr<4 —-3.0<y*<-25 1661 £ 228
2<pr<4 —3.5<y*<-3.0 1478 4225
2<pr<4 —4.0<y*<-3.5 1366 + 216
2<pr<4 —4.5<y*<—4.0 913+ 164
2<pr<4 —5.0<y*<—4.5 503 +99
4<pr<6 —3.0<y*<-25 1538 £ 243
4<pr<6 —3.5<y*<-3.0 1199 4+ 204
4<pr<6 —4.0<y*<-35 869 + 165
4<pr<6 —45<y*<—4.0 895 + 152
4<pr<6 —5.0<y*<—4.5 406 + 107
6<pr<8 —3.0<y*<-25 1313 +222
6<pr<8 —3.5<y*<-3.0 859 4149
6<pr<8 —4.0<y*<-35 518 =99
6<pr<8 —4.5<y*<—4.0 242 + 69
6<pr<8 —5.0<y*<—4.5 240 + 45
8<pr<10 -30<y*<-25 608 + 156
8<pr<10 —-35<y*<-3.0 449 + 83
<pr<10 —4.0<y*<-35 263 +53
8<pr<10 —45<y*<—4.0 88 £40
<pr<10 —-5.0<y*<—4.5 82 +47
10<pr<15 =-30<y*<-25 336+ 75
10<pr<15 =-35<y*<-3.0 181433
10<pr <25 —4.0<y*<-3.5 3947
10<pr<25 —45<y*<—4.0 24+5
10<pr<25 —50<y*<—45 9+6
15<pr<25 =-30<y*<-25 43+15

15<pr<25 —=35<y*<-3.0 268




